


(1) When you want to move an icon on your desktop, this is called

[A] double clicking

[B] highlighting

[C] dragging

[D] pointing

Answer : [C]
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(2) A disk's content that is recorded at the time of manufacture and that cannot be changed or erased by the user is

[A] memory - only

[B] write - only

[C] read - only

[D] run - only

Answer : [C]
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(3) A factor in the selection of a source language is

[A] programmer skill

[B] language availability

[C] program compatibility with other software

[D] All of the above

Answer : [C]
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(4) Hexadecimal number system consists

[A] 0 to 9

[B] A to F

[C] Both `1' and `2'

[D] Either `1' or `2'

Answer : [C]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(5) Which is the name of the network topology in which there are bidirectional links between each possible node?

[A] Ring

[B] Start

[C] Tree

[D] Mesh

Answer : [D]
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(6) E-mail client is the feature of

[A] MS Word

[B] MS Excel
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[C] MS PowerPoint

[D] MS Outlook

Answer : [D]
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(7) Factor making windows popular is

[A] multitasking capacity

[B] desktop features

[C] user friendly

[D] being inexpensive

Answer : [C]
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(8) Compiler is the

[A] name given to the computer operator

[B] part of the digital machine to store the information

[C] operator of boolean algebra

[D] translator of source program to object code

Answer : [D]
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(9) .......... is one reason for problems of data integrity.

[A] Data availability constraints

[B] Data inconsistency

[C] Security constraints

[D] Unauthorised access of data

Answer : [A]
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(10) Computer cannot perform -

[A] input

[B] output

[C] thinking

[D] processing

Answer : [C]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(11) Artificial intelligence is an example of

[A] first generation computer

[B] second generation computer

[C] third generation computer

[D] fifth generation computer

Answer : [D]
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(12) Active window means the

[A] active window is designated by a different colour toolbar that other open window

[B] window than is currently open

[C] Both `1' and `2'

[D] window that is last used

Answer : [C]
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(13) Rows of a relation are called

[A] relation

[B] tuples

[C] data structure

[D] an entity

Answer : [B]
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(14) How many bits are there in the ethernet address?

[A] 64 bits

[B] 48 bits

[C] 32 bits

[D] 16 bits

Answer : [B]
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(15) The ........ is the amount of data that a storage device can move from the storage to the computer per second.

[A] data migration rate

[B] data digitising rate

[C] data transfer rate

[D] data access rate

Answer : [C]
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(16) Which command brings you to the first slide in your presentation?

[A] Next slide button

[B] Pageup

[C] Ctrl + Home

[D] Ctrl + End

Answer : [C]
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(17) Binary system is also called
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[A] base one system

[B] base two system

[C] base system

[D] binary system

Answer : [B]
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(18) The earliest calculating device is

[A] calculator

[B] abacus

[C] difference engine

[D] analytical engine

Answer : [B]
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(19) ..... printer cannot print more than one character at a time.

[A] Line

[B] Daisy-wheel

[C] Laser

[D] Dot matrix

Answer : [D]
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(20) Which language is directly understood by the computer without translation program?

[A] BASIC language

[B] Assembly language

[C] High level language

[D] Machine language

Answer : [D]
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